@ LB RMXESFR mEe B¥l&
ax 1BEN 110M 108M
) o o= (=) P 198M 194.49
=R FE= 7 154/ 151.2/
HEE /7 448 43.2M
ax /l 118 10.8M
e EEGE 7 16.5M 16.2M
BREAH AEE /l 5.5M0 5.4
REEE /l 5.5 5.4
ax 7l 192.5M 189M
. L= (%) / 220 216M
BEERR FE= 7 99M 972
REEE Vi 99H 97.2H
. N =F 1E%7=0 6,730 6,600
ERERE &1 7 14,660M 14,400
OE X ERFR mEe B¥lE
ax 1RRIS =0 44M 43.2M@
HEER(E AR = /] 99 97.2H
EEbEES Vi 1548 151.2H
ax 7l 22/ 21.6M
ERFERARE = /I 228 21.6H
AEE / 5.5M 5.4/
T, ax 7 192.5M 1891
BRELAH = 7 192.58 189
. R =17 1T@EY7=0 4,050 3,980
SEREAR &5 7 9,060M 8.890M
OS> RYHXESER elE [BHElE
o= 1BEN0 49.5H 48.6M
o e =1 /7 418M 410.49
AR =2 i 38.5M0 37.8M
HE= /l 198M 194.49
SE Vi 221 21.6M
e =1 /l 55M 54/
BREAH =2 Il 5.5 5.4/9
HE= /l 16.5M 16.2M
2F /I 449 43.2H
e e =1 /l 1430 140.49
R =2 Vi 27.5H 27H
= 7 33[ 32.49
=1 1TE%7=N 9.540M 9.370M
ﬁ \I: b 9

Or st X EXFR RS BEle
2E 170 264H 259.2H
M= (1) / 88H 86.4M
MeEkfE R R = (2) i 88H 86.4M
= (3) V] 448 43.2M
= / 231 226.8H
RE /) 77H 75.6H
M=(1) / 22M 21.6M
B ERR = (2) V] 22M 21.6M
M= (3) / 5.5M 5.4
RIE= / 118 10.8M
oy 1 385M 378H
fM=(1) / 192.5H 189MH
BEERR fM=(2) / 192.5M 189MH
= (3) /I 66H 64.8M
RIEE / 99H 97.2H
B EEF=D) 9,840H 9,660M
FRERH <1 7 22,0008 21,6008
OO EXREXFR RS BElie
2= 1R 7=D 66H 64.8H
HEERE AR M= / 110M 108M
BIE=E / 187H 183.6H
| 1 22H 21.6M
EXERR = / 118 10.8H
RIEE 1 16.5M 16.2H
K=E 1 192.5H 189
BBEHERAR = N 99H 97.2H
RIE=E /] 99H 97.2H
- - B 1E1%7=h 4,910M 4,820M
FREAR & H 7 9,990 9,810/
O X ESF S RS
2E 1R 7=h 99H 97.2H
- M= (1) / 132H 129.6M
L M= (2) / 110 108H
AIEE /) 220H 216H
]E / 33H 32.4H
e e M=(1) / 27.5M 27H
RRERH M= (2) / 22M 21.69
RIE=E / 118 10.8M
ax / 192.5M 189MH
— e p s fM=(1) / 99H 97.2H
BERREH =) 7 99 97.2F
RE=E 7 99H 97.2H
. EH 1EI%7=h 7,660 7,520/
SRR ZHA /) 14,030 13,770
9 £ ~NHEHNSHEDEHSE~

HE ~NREPEHEDEMS5E~ 8

*




